Subject: Re: Interpreter stack not aligned properly during user return.
Posted by Nuno Oliveira on Fri, 05 Mar 2004 17:16:37 GMT

View Forum Message <> Reply to Message

Seems that the only error was that | was doing
(mask)[indices] = 255b
instead of

mask[indices] = 255b

Well, mask is indeed a tag of a pointer to structures. But the question is
that the question was solved only by removing the parenthesis.

"Nuno Oliveira" <nmoliveira@fc.ul.pt> wrote in message
news:c2a6n4$fhn$l@pegasus.fcen.pt...

Interpreter stack not aligned properly during user return.

Can anyone help about this error message? What may cause this?

By the way. Is, in IDL tutorials, a section what interpreting error
messages?

Cheers,

Nuno.
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